
3rd ANGLE PROJECTION

45.6
Tool 52.6

Master

98.2
Coupled

15.1

 13 

45.2
Pin

3/4" NPT
Air Pass Thru

3/4" NPT
Air Pass Thru

3/4" NPT
Air Pass Thru

3/4" NPT
Air Pass Thru

4X M8 x 1.25
    SHCS

50±0.013

86.60±0.013

12mm

2X 10mm
 Dowel
Slip Fit

For M10 SHCS
Equally Spaced
From Other Side

 17.3   10.4
6X  10.7  Thru

 241.3 

 141 

 45.49±0.013 

 77.35±0.013 

 25 

 43.3 

B.C. 100

Flat A

Flat D

Flat B

Flat C

130

50

55.7

25

 130±0.013 

 19.1 
 2X 51.44±0.013 

 7.8 
 47.8 

Flat A

Flat C

Flat B

Flat D

4X  M8 x 1.25 
      SHCS

2X 6mm Slip Fit
       6mm

Scale 1:3 

Tool Side View
Master Side View

Part Numbers:
(A) Master: 9123-GL2CM-0-0-0-0-N
(B) Tool:     9123-GL2T-0-0-0-0-N

Notes: 
Continuous Coupling Force must 1.
be maintained in order to keep 
Master and Tool engaged.

Rev. Description Initiator Date

06 ECO 17831: Updated 4X M8 x 1.25 SHCS length to 13 was 23. TBC 3/28/2019

B1:51 3
REVISION

NOTES:  UNLESS OTHERWISE 
SPECIFIED.

DO NOT SCALE DRAWING.  
ALL DIMENSIONS ARE IN 
MILLIMETERS.

DRAWN BY:

CHECKED BY:

M. Perrault, 9/28/12

D. Norton, 11/6/12

TITLE

SCALE SIZE DRAWING NUMBER

PROJECT # SHEET       OF 9630-20-GL2-N- 06

PROPERTY OF ATI INDUSTRIAL AUTOMATION, INC. NOT TO BE REPRODUCED IN ANY 
MANNER EXCEPT ON ORDER OR WITH PRIOR WRITTEN AUTHORIZATION OF ATI.

1031 Goodworth Drive, Apex, NC 27539, USA
Tel: +1.919.772.0115      Email: info@ati-ia.com
Fax: +1.919.772.8259      www.ati-ia.com
ISO 9001 Registered Company

 

GL2  Compliant Utility Coupler, NPT



3rd ANGLE PROJECTION

GL2 Compliant Utility Coupler Master Assembly

10

1
2

19

18
11

5

15

9

8

22

4

14
16

20

17

6

12
4

13

5

3

21

Magnalube

Magnalube

7

ITEM NO. QTY. PART NUMBER DESCRIPTION
1 2 3410-0001015-01 O-Ring Master AS568-026
2 2 3410-0001249-01 O-RING, Dash #119 Nitrile 90 

Durometer
3 2 3490-0001036-01 3/4" NPT Hex Socket Plug, SS
4 2 3500-1066016-15A M6-1 x 16mm SHCS, Blue, Pre-

Applied
5 4 3500-1068025-15A M8-1.25 x 25mm SHCS, Blue, Pre-

Applied
6 3 3500-2070035-11 SHCS Shoulder M12 x 35 Shoulder 

M10 Thread
7 3 3505-0870001-12 Hex Nut M10x1.5, 8mm Tall 17mm 

Wide Zinc Plated Steel
8 3 3610-1725001-10 Steel Compression Spring 2-1/2" L, 

5/8" OD,.080" Wire
9 3 3610-1925001-20 Steel Spring .845" OD, 2.5" Long 43.4 

Rate
10 2 3610-2015100-20 Spring, 1.1 inch dia, 2.5" long, 

10.8#/in SS
11 2 3690-8500001-11 Retaining Ring, Internal Inverted 

Truarc # 5008-187
12 3 3700-20-4675 Custom Chamfered Washer
13 3 3700-20-4676 Custom SAE 841 Bronze Thrust 

Bearing
14 1 3700-20-4713 G2 Compliant Interface Plate Body
15 3 3700-20-4716 Compliant IP Preload Pusher
16 1 3700-20-4718 1/2" Dia. Alignment Pin 4mm Taper
17 1 3700-20-4732 1/2" Dia. Alignment Pin 4mm Taper
18 2 3700-20-4924 3/4" Valve Master Stem
19 2 3700-20-6161 3/4" Valve Piston
20 1 3700-20-10322 Center Compliance Pivot Pin

21 1 3700-20-10414 Rest Button, 10mm Dia. Stem, .79 
Dia. Button, S7 Steel

22 1 3700-20-10415 G Series Compliant Interface Plate, 
Base Mount

B1:52 3
REVISION

NOTES:  UNLESS OTHERWISE 
SPECIFIED.

DO NOT SCALE DRAWING.  
ALL DIMENSIONS ARE IN 
MILLIMETERS.

DRAWN BY:

CHECKED BY:

M. Perrault, 9/28/12

D. Norton, 11/6/12

TITLE

SCALE SIZE DRAWING NUMBER

PROJECT # SHEET       OF 9630-20-GL2-N- 06

PROPERTY OF ATI INDUSTRIAL AUTOMATION, INC. NOT TO BE REPRODUCED IN ANY 
MANNER EXCEPT ON ORDER OR WITH PRIOR WRITTEN AUTHORIZATION OF ATI.

1031 Goodworth Drive, Apex, NC 27539, USA
Tel: +1.919.772.0115      Email: info@ati-ia.com
Fax: +1.919.772.8259      www.ati-ia.com
ISO 9001 Registered Company

 

GL2  Compliant Utility Coupler, NPT



3rd ANGLE PROJECTION

4

6
5

9

2 3

1

8

74
7

GL2 Compliant Utility Coupler Tool Assembly

Note 2.

Note 2.

Note 2.

Magnalube Bores

Magnalube

Magnalube

Magnalube

Magnalube

Notes:
See Manual for replacement parts, including older valve 2.
designs which require a spanner wrench for Stem 
installation. New Stems install with a hex wrench.

B1:23 3
REVISION

NOTES:  UNLESS OTHERWISE 
SPECIFIED.

DO NOT SCALE DRAWING.  
ALL DIMENSIONS ARE IN 
MILLIMETERS.

DRAWN BY:

CHECKED BY:

M. Perrault, 9/28/12

D. Norton, 11/6/12

TITLE

SCALE SIZE DRAWING NUMBER

PROJECT # SHEET       OF 9630-20-GL2-N- 06

PROPERTY OF ATI INDUSTRIAL AUTOMATION, INC. NOT TO BE REPRODUCED IN ANY 
MANNER EXCEPT ON ORDER OR WITH PRIOR WRITTEN AUTHORIZATION OF ATI.

1031 Goodworth Drive, Apex, NC 27539, USA
Tel: +1.919.772.0115      Email: info@ati-ia.com
Fax: +1.919.772.8259      www.ati-ia.com
ISO 9001 Registered Company

 

GL2  Compliant Utility Coupler, NPT


	Sheet1
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View23

	Sheet2
	Drawing View14
	Drawing View21
	Drawing View24

	Sheet3
	Drawing View16
	Drawing View19


